Vab
a,b




b =<1

ax2

@

™M N N

&)

—loN

<

=l

440 12

AN <

—lN

N[™M

harmony

®



14 16
14 15 16
( )| 5135 524.0 533.9
15 16
60 20 30
20 30 =2 25

><100

25




(Magnitude) ,
‘ N
100 km
(1/1000mm)
\ J
[ 1 10mm
10mm 10000 1091010000 4
[ 1 (1)1000mm (2)0.1mm
(3)50mm (4)63mm
[ 1] ,
|Ogm 4.8 1.5 ,
[ 1
|Oglo 4.8 1.5<0 4.8

10** 63100

10%°

4.2

6.31




1 @ &)
® 4)

(8.4>10"

)

1000

@

&)

pH




(Magnitude)

[ 1 (2005.6.20) 4.9 (1995.1.17) 7.3
[]
100km
1mm)
[]
[ ] 10mm
10mm 10000 10910000 4
[ 1
(1)1000mm (2)0.1mm (3)50mm (4)63mm
[ 1
[]
(Iogm 4.8 1.5x )
[ 1
logw 4.8 1.5%0 4.8 10**  63100( )
[ 1
€)) @ ©)) ®
[ 1
[ 1 4.9
[ 1 7.3
[ 1

(8.4><10" )

(1000




(

5278)




M)

)

©)

(4)
®)

M)

)

(

(0000 9999)

10 28 10 20 11 22
1234
1110
1111,2323,5111 )

(4)(5) (2) ]

1111,2223,4388
09 90

10




0000 7777

0401

@

€

13




X 1000

10

@

2 X
10

1.08=<10" X

(1.08%<10" x)><1.08 «x
1.08°<10" (1.08 1)x

{1.08°><10" (1.08 1)x}><1.08 x
1.08'><10" (1.08° 1.08 1)x

10
1.08"><10" (1.08° 1.08

8

1.08 1)x

®

8

1.08°><10" (1.08° 1.08 1.08 1)x

o (®
)

1000 10
10 1.08"><10’

10

1.08°x 1.08% ... 1.08x x

10

1000 10

10

10

") ™




(1.08" 2.159

10

(1.08° 1.08° 1.08  )x
(1.08° 1.08° 1.08  )x 1.08°>=<10
(%)
(5) a r(r£ ) {an}
n Sh
S»a( M ( r)
®) (
)
(1.08"  Hx (1.08 ) 1.08"x<10’
X 10°>14902.5... 1490000
(M 10
1490000><10 1500
® ( )
(
10 |12 |15 |18
1000 1500| 1630 1770 2000| 2230
500 750| 820| 890| 1000| 1120

11




€y

30
e, B
1 TR FIE)
2 |iERFR| R 1000000 | ?ﬂ
_____ a0 1| 1.07 | 1070000
| 2| 114 | 1144800
______ 5 | 3] 1.23 [ 1225043 A -
o 4] 131 | 1310796 LAIGED BB
e 5| 1.40 | 1402552
o 6] 150 1500730
5 | 7| 161 | 1805781
10 | 8l 1.72 | 1718186
i 5| 1.64 | 1838455
e 10| 157 [ 1967151
e 11| 210 [ 2104852
T 12| 225 [ 2952182
15 | 13| 241 [ 2409845
16 | 14| 258 | 2578534 .
17 15| 276 [ 2759032
15 | 16] 205 | 2952164 0 5 10 15 20 75 30
19 17| 316 | 3158815 #1884 A
20 | 18] 3.38 | 3375052
i 19| 362 | 5616528
22 20| 3.87 | 3869684
i 1| 414 [ 41408562
24 | 22| 443 | 4430402
25 29} 4 74 4740530
@)

12




[ J20m/

S

20= 30= 45= 60<=

(1) 30°
Vx| =20><c0s30==10v'3
[V;] =20>sin30= 10t =10 10t

vy | =0 t=1
S=10v3x2t 20V3
20%<1.73 34.6 34.6m
(2) 45=

[Vs| =20><c0s45< =102

IV;| =20><sin45<= 10t =102 10t
vy| =0 t=v2

S=10v/2><2t 40 40m

3) 60°
|| =20><c0s60<==10
IVy| =20><sin60= 10t =10v/3 10t
;| =0 t=v'3

S=10><2t=20v3 34.6 34.6m

%) 20=
[V'| =20><c0s20==18.794
[V;] =20>=<sin20< 10t =6.84 10t
lvy| =0 t=0.684

S=18.794><2><0.684

13

25.7 _25.7m

<
&
=

sin30< cos30<

%1, v
g 9.8m/
10 m/
|V IV | 10t
vy | =0
t =<2
Vv

sin20= 0.3420
cos20<= 0.9397

45<




o 45<
|V |=a |VZ| =a cos©

a .
|j| =asin©-10t=0 t=ESInG

2
a . a B}
S=acose xl—sm@ X2= EXZsmecose

a .
= ESII’]ZQ
0= © 9%0° 0= 20 180<
S 20=90<
O 45<
|:| r 10m
v 5m/
m
Ry F  10m
Rcos® 10m
R« Rsin©
F
v? 52_ R cos©
F mT m 5—2 5m= 4
F R« tan® 0.25
0 14<

V|, R

5 m/

14=

18 km/

Vx

F.

14




20m/

10m/

(1) 20= () 30<
(3) 45= (4) 60<
[ 7]
|:| r10m v 5m/
m
IF |
RW( )
|
Rx( ) F
tan©
(S)

15




10

30 90
( )
@
30
) 60 40
60><0.7 40>=<0.1 46
60><0.3 40>=<0.9 54
©ONE) 10
&)
37.6 32.56
62.4 67.44
n Xn Y
X, =0.7x,,+0.1y, Xo ) (0.7 0.1\ X,
y, =0.3x,,+0.9y,, |y,) 0.3 0.9y,
Excel 10

Xo) (0.7 0.1)°(x,) (0.255 0.248)60) (25.2
Vo) \0.3 0.9) \y,) \0.745 0.752)40) (74.8

16

10




100

( 60-40) [ —a—a

-+ -B

90

80

A A= —&-—B—-A

-

70

60 T
& 10
A
30 ‘\'\N .
20
10
0
0 1 2 3 4 5 6 7 8 9 10
) 70 30 10
Xo) (0.7 0.1)°(x,) (0.255 0.248)70) (25.3
) (0.3 0.9) \y,) (0.745 0.752)\30) (74.7
( 70_30) —n— A - -B
100
90
80 —a-——-a
70 — L
e —
40 AN
30 “‘/ \.\\'\l—'—._._.
20
10
. ‘
0 1 2 3 4 5 6 7 8 9 10
©)
o) n - oo Xo — X
Xy X - X
x 0.7x 0.1y
y 0.3x 0.9y X
(v) 1
x 'y 100 y
X 25y 75
im (P 0y
p= 0.7 0.1 nﬁw( p q)
0.3 0.9
1 g q
7 a(p p)
, n

17




€Y)

) 60 40

ONO) 10

) 70 30

®)

70

10

30

90

100
90
80
70
60
50
40
30
20
10

10

100
90
80
70
60
50
40
30
20
10

10

18




